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2N HdEH
Mz =0l OIS AHIA MB(HEH)
Cel: EEH0 HEN 2 (S5 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
= S NE= 30,000& = 1CH 30
Oo=tdNdeeg2 220
-4 22 20,000& = 23| 40
ENE=PNE 90,000& * 2CH 180
(@)=4=X=3 2,100
S =KX XS 500,000 = 1CH 500
-~ E3I= 900,000& * 1CH 900
-E432 700,000& = 1CH 700
202 04| 4,000 4,000 0
01 2LH0HI 4,000 4,000 0
OgHAR FA 4,000
206 T2 HI 5,500 5,500 0
01 & bl 5,500 5,500 0
O=EZRS Z2AXTH W& 3,500
Og9 g 754 2,000
301 LprB A 960 0 960
09 HALAHIEA S 960 0 960
OFXA LH SAM0IEZ L EHA =4
8,000& * 20¥ x 63 960
TTANE L FHRNT(HES) 95,415 98,522 ~3,107
101 @121l 9,115 8,222 893
04 J|I2ZtH2ZXNEE S 9,115 8,222 893
OH3H Mssad 22 3,112
-0l 66,800 * 2 x 20 2,672
-AEE = 2,672,000& * 16.44% 440
ogs 2=01& 22 4,667
-0l 66,800& * 29 » 30 4,008
“AES = 4,008,000& * 16.44% 659
O35 - 240|3t&4 &g of2Yd
66,8003 * 18 * 20 1,336
201 et A | 86,300 85,300 1,000
02 =294l 86,300 85,300 1,000
O xt&k= Xl gl 16,500
- SSEHS KIS 4,000,000& * 1CH 4,000
-AESI2 3,500,000& = 1CH 3,500
-S23= 9,000,000& * 1CH 9,000
(@Fal—2=D\}s| 2,000
OJgs L ss dMIIe3
5,500,000& * 12& 66,000
OHSHSANE DBXNIALEH 3322
150,000& * 128 1,800




FN: H3H
FM: =0 OE MHA MS(HEH)
©9l: SEEHQ HEM 29 EEH-E)
SN P SA(EN) - MBAY - BES 0] &k o4 il HlDE2
FOUXNXHAEH 2H(HEH) 13,500 13,500 0
201 £B-2d| 13,500 13,500 0
01 At 22l 11,500 11,500 0
OFTXHEH 29 1,000
Ozlo=¢ 35,0003 = 259 « 123 10,500
03 AH2 I 2,000 2,000 0
OFQUXX d&2s AASH 2,000
FOHOZA XNIML(HEH) 831,238 370,000 461,238
ZEU= NGNS (AZH) 831,238 370,000 461,238
AR FUSIANM(HEH) 820,000 370,000 450,000
401 AIEHIZL 2 0] 820,000 370,000 450,000
01 A& Hl 820,000 370,000 450,000
O=cl =2 &XI(70m) 20,760
O2E s=2x& % == 4 X (150m) 20,000
O2d =24 ¥ Ot H =4 (40m) 15,000
OXNZE == XX (150m) 25,000
oYy ==X & (150m) 25,000
Ous o2& IM=I1(660m) 25,000
O == EZ&(150m) 20,000
O30 ti==4& Xl (150m) 17,300
OER == EZ&(150m) 25,000
ORs =22% < =24 X (150m) 23,000
O2= =24 X (100m) 25,000
Ou&E =2 X & (150m) 30,000
OB& ==X E(50m) 20,000
OZd s=2Z& <L =2 & X (100m) 20,000
Od == E(140m) 30,000
O#d 2 &=Hdl(60m) 20,000
Odlsll g WAl (20m) 15,000
O=X S== & Z(200m) 25,000
Ot & ti === & Xl (150m) 25,000
OXE ==& X (150m) 25,000
Oscl =2 Z&(100m) 22,000
OMEZE ==& Xl (150m) 25,000
OgA tH==FHl(200m) 25,000
Ous 22X =27((150m) 25,000
O&2 =2 & X (150m) 25,000
O=2t =2 & (200m) 25,000
OE2 ==& Xl (250m) 25,000
Oz == E(150m) 23,000
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SN G
H: HHE2IAH(HEH)
el J=23H(HEY) (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
02 M0 30,240 30,240 0
O HOHI 180,000& * 14%¥ » 123 30,240
203 YR =2t 9,852 9,852 0
01 JIZ2Z YR 6,000 6,000 0
OPiNed 9 oSS ALEXY 6,000
02 A& H 2= 612 612 0
O AT AHI
40,000& = 179 = 90/100 612
04 FN2ELRZ=LH 3,240 3,240 0
ORN2EERFAH
300,000& = 12& = 90/100 3,240
405 THabH SH| 7,855 85,000 ANTT,145
01 At ESFH S 7,855 85,000 ATT,145
OXtetete & 335,000& * 504 1,675
OLHNEE X 85,0003 = 5004 4,250
Ol Xt 4,700& = 3004 1,410

OSM A eI 520,000& * 1CH 520




